
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

GMP/NOV21/1 All prices exclude  GST 

AUSSIE SPARES DIAGRAM & PARTS LIST 
AUSSIE GMP PUMPS:  

Part  
Number Qty Description List price 

6031 1 FLEX. GASKET G 1089 $8 
6035 1 FLEX. GASKET B 1056 $10 
6184 1 FLEX. WASHER 41x50x2 $8 
6295 4 Hex. Head Bolt  $6 
6321 
(not 

shown) 

1 
Bearing for electric motor 
 6205-2RS(25-52-15) 

$72 

6355 1 Counterface 33-57-10  $41 
6880 1 EXTENSION SHAFT FOR MEC (160 SS) $1,559 

9533 7 SCREW OEB M10x30 AISI 304 $11 
F135 1 CONICAL TAP 1/4" GAS $24 
F476  1 Nut M12x1.75  $15 
F497 1 Support B4XRA  tba 
F850  1 Key B 6x6x15 AISI 316  $8 

F857  4 Screw M12x55 AISI 316  $19 
F905 8 Screw M10 AISI 316  

B4XR-A/X electric with 11-15kW motor 
Cat  EAAC 

Part  
Number Qty Description List price 

H015 1 COMPLETE CHECK VALVE B4XR−A $299 

H042 1 PUMP CASING AISI 316 $5,640 

H043 1 VALVE BODY AISI 316 $2,820 

H045 1 FLANGE AISI 316 $1,504 

H097 1 TAP AISI 316 1 1/4"G $187 

H398 1 Mech. Seal  $53 

H893 1 Flange   

H777 1 Motor 11kW – 400/690V.  $3,219 

H848 1 Washer  $8 

H895 4 T.E. Screw M  $0 

H996 1 Motor 15kW – 400/690V.  tba 

L246 1 Back plate tba 

L356 4 Washer   

L357 1 IMPELLER (11 kw)  tba 

L358 1 IMPELLER (15 kw)  tba 


